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2,000,000 *30a 60,000
T 30,000
Al 30,000
OS8H ol=E32| =2 0tAZHMRI|SAL
2,000,000 *40a 80,000
& 40,000
Al 40,000
O=EH H12| 02 IS A
200, 000& *500m 100,000
T 50,000
Al 50,000
O=E™ EfE3e| NZH KASAH ZHISA
750,000 *40m 30,000
& 15,000
Al 15,000
OHHaH S0H4e| YA = 212 =2 4Xl
= AHZHISA 1,000,000 +50m 50,000
S 25,000
Al 25,000
ORA 82| W23 22 S2AIH FHIBA
1,000,000 *35m 35,000
& 17,500
Al 17,500
OX%ts &=z a2 EUISA
200,000 *175m 35,000
= 17,500
Al 17,500
OJtE2s &0s otz ILEITAL
2,000,000& +15a 30,000




SN ALY

M R ARSI (REUX AW/ N AU A
Sl X|He (Ctol: ®M2l)
SN B O9(3H) - MBEAR - BAS Ofl o Gl MMinE="T
= 15,000
Al 15,000
QUBLE T AS 891,600 60,600 831,000
HC A2 891,600 60,600 831,000
201 LBtE2HH| 41,600 40,600 1,000
01 AFR22t2|H] 27,000 26,000 1,000
Og=s E#T1J| ot S22 ¥ sH3E|
16,000
—zape USRI
10,000,000 x 14 10,000
— 2PN (HEES) Ba 2 AN
6,000,000& 14! 6,000
OFELH 2HFE U E9H SHEDET 29
2 A 2B 7Y S
1,000,000/ * 14! 1,000
O2LMA AlFZS(Z =100} otE32t)
10,000,000 * 14 10,000
02 BB 14,600 14,600 0
OYES FTIIoHE B AL 446 Y|
5,000,000& 14! 5,000
OgES FTIHeHE B ®I| U Ao4E 23
800,000& x12& 9,600
403 AXISHISA=01A 850,000 0 850,000
02 2 |2SH S AE2E S AIZH] 850,000 0 850,000
OYFY IFAASZ A
8,500,000,000& *10% 850,000
SENL (SPHLR/ =Y - 5) 27,471,621 17,190,657 10,280,964
= 1,235,904
= 452,983
Al 25,782,734
S8Ry 20,401,621 14,690,657 5,710,964
= 1,235,904
= 452,983
Al 18,712,734
=2lAlE 2 4,434,750 4,153,200 281,550
201 LBtEHH| 216,750 163,200 53,550
02 B224H| 216,750 163,200 53,550
OUBIBY S8 +HAA 242
125,000+ 13400 2~ 16,750
22| $=2lAIES KXIH(EIIRS)
400,000& *500H A~ 200,000
401 AIEHIZL 204 3,268,000 3,690,000 A422,000
01 Al&H]| 3,257,335 3,679,434 N422,099
OBt Xlotr AL
3,500, 000& *20 74 A 70,000




A A4
M SENL(SUHYSL/5Y - 5E)
©Helr sYIIgtRd
SN - ZE - S9I(3H) - HRAY - BES st Gl
O=2lAId 212 B+ & |Xi2el]
300,000,000& 14! 300,000
ORSTLHP) BHEY 242
500,000 102 X 5,000
O=FMEH(FA) BHEZ =2
500,000 102 X 5,000
O3718 2322l 838X =L&3At
100, 000& *6, 300t 630,000
O3718 «=&cl iS22 212 S+ FHISAt
340,000 *150m*99. 1% 50,541
O3 =l &=z 12 =2 ZXISAt
300, 0002 *220m 66,000
O3J18 Sl & 22 =2 ZHISA
400,000 *150m 60,000
O0IpH S3c| Hes &322 ZEXIZAM
25,000 &*2,000m*98. 92% 49,460
OO0 AlM2e| BEE S22 EXISAt
30,000&*1,500m 45,000
OO0l 2222 EXI0IS JISUH S0ZALY
50,000,000 * 1702 50,000
OO0l Algh2e| SEE IS SIHEAY
50,000,000 %190 2 50,000
OZ=29 8822 Nits E+2 FHIBA
160, 0002 *350m*99. 1% 95,4%6
Ot 8€2c| 2= 2 HHSA
100, 000 *500m 50,000
O2=H 2teie| JIiE 8+2 FHIZEA
150,000 *300m 45,000
OE=% ZHXT 2=& ZXISA
1,000,000, 0002 *141%99. 37% 993,700
OmA0 AT12] HEN D LA BHHS2 HHZA
150, 0002 *400m*99. 1% 59,460
OF4p SHEIZ CR2 U2 2|42 HAZA
200, 0002 *250m 50,000
OotdH S&22| 22|URE =2 FHISAL
125,000 *400m 50,000
OerE ™ OS2l 509Kl 212 Hi+= EHIZAt
600,000 *150m*99. 1% 89,190
O=88 F2c| F72X7 S22 ZEXISA
50,000&*1,000m*98. 92% 49,460
OF4H =12l DIeE 2 Sti+==2 ZHISAt
150, 0002 *900m*99. 28% 134,028
OL8 Xl Mool =clAld ZHISA
300,000,000& 14! 300,000
03 Al S0HH 10,665 10,566
O3718 «=&cl iS22 212 S+ FHISAt
340,000 *150m*0. 9% 459
O0ItH 3| B8z S22 ZXI3A
25,000&*2,000m*1.08% 540




A AL
HE: SENL(SYHYSL/SY - 55)
(o R s W Ll e (cHol: M)
SA - BB - BRI(E) - HRAY - BAS il st Gl SimE==1
OZ2d 822 Xits E+2 ZHISA
160, 0002 *350m*0. X% 504
O2=H ZHXT 2==F ZXIZAt
1,000,000, 0002 *141%0.63% 6,300
O&==H H312| HHEHOH LR Eis== WM SAL
150, 000& *400m+0. % 540
Ot (el 5092l 212 HH==Z HUISA
600, 0003 *150m*0. X% 810
O=gH F722| F72X7 S22 AXI3At
50,0002 +1,000m=*1.08% 540
OFAH 42312l OIeH= 212 S22 FHISA
150, 000&*300m*0. 72% 9re
403 XXISHHSXH=0]H 950,000 300,000 650,000
02 SJ12SOCHE X=X 2 A 950,000 300,000 650,000
+2|AEE RAALH BX(SI=2sHESAL
300,000,000& 14! 300,000
O3AKM=X| =8 Lz AXISAHEIRsSHESAL
400,000, OOOOJ*VA! 400,000
O=g8 28 MEZ2(ME & 2EIHM)S
(BI=2s0HESA
10,000,000 #2071 2~ 200,000
O=gE 23 FIIEASA(S=2sHESAL
100, 000& *5007H 2~ 50,000
SEFQU=RAY 6,326,000 5,093,457 1,232,543
401 AlEHIZL 048I 6,326,000 5,093,457 1,232,543
01 Al&HI 6,309, 386 5,063,134 1,246,252
O35 &otel 20tz 212 =2 ZEXISA
600, 000 *200m 120,000
O35 &otel R4z 22 =2 ZEXSA
500, 0003 *400m 200,000
O3J18 MRel 0222 ot=== JHHIZ At
450, 0003 *200m 90,000
O2J18 w&EC| 202-3¢HX L2 Sl 2=l
SRZA 2,500,000 *100m 250,000
O0I4HH XIS3el MUZ AIHEHISAL
360, 0003 *250m 90,000
OO0 Eie| 2= s EZEZIA
250, 0003 *480m 120,000
O2=H 122el 0222 OtAZ IXKIIBAL
2,000,000&*50a 100,000
O2+H el 8% 02Xz JUISA
800,000 *100m 80,000
OF=H 2312l S22 OtAESHM 2D
EZZA 2,000,000&*40a 80,000
O=2=H 5222 N SZ2EHSA
400, 000 *200m 80,000
O&=H 3|1l =01 & 0= 0tAZ
SNSRI SA 2,000,000&*40a 80,000




SN ALY
M sENL (ML 5D - 5&)
&2l =2)|BtEY -
(Ctol: ®2))
A - BB GRI(EI) - HRAY - BES 0l &t Gl e
O&H FH12| SIFUXZ 212 =2 FEISAt
200, 0002 *400m 80,000
OF48 w722| 231012 912 AHEHIZA}
1,000, 0002 *80m 80,000
O&H SH12| BHetn 212 AIHEHIZS A
650,000 & *200m 130,000
OotEH g4He| TIlE WHEEIA
25,000,000 *6m 150,000
OtEM g42e| LHEXISAL
50,000,000 *24] 100,000
OetEH 2H)22| E= ol=% ZXIBA
1,000, 0002 *60m 60,000
OHE™ =2l SHEXISA
80,000,000 * 14 80,000
O=8H Fa2e] =2 L AHEHIZSA
800,000 & *100m 80,000
OS8H ol&E12] 52 OIAZHM LRI |SA
100, 0002 *800m 80,000
O=EY Au2e| NEEIA
80,000,000 * 14 80,000
O=EH Ef&32| XZFE LSIMMSA
450,000,000 * 14! 450,000
O=E9 =12 sZ=H3A}
400,000 & *250m 100,000
ORA&H 222 542 212 =2 EXI3At
200,000 *430m 86,000
OAn2 sEFLU=IAANS(SY) 3,463,386
—tH==2 EHHIZAt
30,000,000 *35J12~+99.64/100 1,046,220
—SZEHISA
30,000,000 *35JH A~*99.64/100 1,046,220
_%I-j-l /\—lilg}\l,
50,000, 000 *241*99.28/100 99,280
—AIHZHIZS AL
30,000,000&* 1071 2+99. 28/ 100 297,840
—0tAE M RIS AL
2,000,000 & *490a*99.37/100 973,826
03 Al 204 16,614 30,323 A13,709
OAn2 sEFL=IAANS(SY) 16,614
—tH==2 EHHISAt
30,000, 0002 *35J12~+0. 36/ 100 3,780
—SZZHIZSA
30,000,000 *35J12+0. 36/ 100 3,780
— 21 EXISA
50,000,000 *241%0.72/100 720
AHEHIS A
30,000,000 %1091 2+0.72/100 2,160
—0tAE M RIS AL
2,000,000 & *490a*0.63/100 6,174




SA: AL
Y SENL (SN2 SY - S5E)
T SQID|HHEA (o mis)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
SHEZZA 7,350,000 4,730,000 2,620,000
401 AEHI2 2 7.350,000 4,730,000 2,620,000
01 Al 7,343,700 4,728,200 2,615,500
OB 2AR~22/(21T2025 ) SRS T AT A}
(2) 500,000,0002% 14! 500,000
OR40 F5~EH2|(HTI0258) SRS TR TAL
1,000,000, 0002 *141%99. 37% 993,700
OAYS YXZ TRETFDA
950,000, 00024 % 14! 950,000
O240 0igip| RRA-ES(S5T3055) T2 T H
St 450,000,000 2% 14l 450,000
OHZRESX 22 SHET2 FHIZAH(I2,
WAIRZ|, HSADZ)
300,000, 0002 #3744 900,000
OR40 £212| SE-E2HHUTI102E) 22 T
SA 400,000,00024* 14! 400,000
O24:0 0teH 2| Z2-8HE (M TI10RE) M IHZFTAN
300,000,00021% 14! 300,000
OZJ1g 2H2I(2I=2063) 2H HHZA
150,000, 000224 A 300,000
OE2E4Y HDANTAHZY)
50,000,000 %14l 50,000
Ome 22| ALT2(HTI01S)MSNZZA
100,000, 00021%1A! 100,000
ORM0 AR12|(£4)IEU2 HETA
600,000, 00024+ 14! 600,000
OS24 522| 4T A2(HTI015) M N
300,000, 00024+ 14! 300,000
OZJIg 22l BHZ LEWB2A
400,000, 00021 % 14! 400,000
OZJ|g aJtel £2 MEHLZA
200,000, 00024%14! 200,000
OOHEDI AMR|(2E35)AI0HD T2 HEBA
100,000, 0002 14! 100,000
OF A TO|AHRIC27TS M) 2 SEETA
500,000, 00021% 14! 500,000
OCHAF HAR|(BE1025) SRS EETA}
300,000, 00024+ 14! 300,000
03 Al 6,300 1,800 4,500
240 S MBI (HTI023) T2 TR BAl
1,000,000, 00021 % 1A1%0.63% 6,300
(S0, =2 AEEY] 200,000 300,000 100,000
= 60,000
Al 140,000
401 AEHI2 2| 200,000 300,000 100,000
=S 60,000
Al 140,000
01 Al&H 200,000 300,000 A100,000




2AM:
T ZH -
o /e

cH):

Faf=i,
sENL (sELsd/sY
e [N

 mE)

SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
Os&d e8| LA Mooy ==+c| Al2 SHI
200,000, 00084 14! 200,000
& 60,000
Al 140,000
(Z)M==XIMZE] 15,000 14,000 1,000
= 5,000
Al 10,000
401 AIZHIZ 20| 15,000 14,000 1,000
& 5,000
Al 10,000
01 Al2Hl 15,000 14,000 1,000
OM=Xl HMZEU| 1,500,000« 10K 15,000
& 5,000
Al 10,000
(E)M=XZLUH A 160,000 80,000 80,000
= 48,000
Al 112,000
401 AIZHIZ 20| 160,000 80,000 80,000
= 48,000
Al 112,000
01 Al&H] 160,000 80,000 80,000
O&E2H S| XAk FErM At
40,000,000 * 14| 40,000
& 12,000
Al 28,000
O=&Y Aulc| SSA LA
40,000,000 14 40,000
= 12,000
Al 28,000
OF4d 2l &aXl JEddH
40,000,000 *14| 40,000
& 12,000
Al 28,000
O2ES &oUX FUHAC
40,000,000 14 40,000
= 12,000
Al 28,000
(2)6.27~7.27 SRUHERHI(BHANML) 1,769,240 0 1,769,240
= 1,116,329
= 326,455
Al 326,456
401 AIZHIZ 20| 1,769,240 0 1,769,240
= 1,116,329
& 326,455




M A4t
Y SR (SHLSL/ Y - SE)
A R ) [ e (CHR: X 2)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
Al 326,456
01 AlIEH| 1,769,240 0 1,769,240
06.27~7.27 S=UIoH =oH=2SAF 14004
1,769,240,000& * 14! 1,769,240
= 1,116,329
= 326,455
Al 326,456
(=) SRLESIH=THol = 7| 100,372 0 100,372
= 73,316
= 13,528
Al 13,528
401 AlEHIZL 048I 100,372 0 100,372
= 73,316
= 13,528
Al 13,528
01 Al&Hl 100,372 0 100,372
OB)IS wel WSK FuIBA
100,372,000 14 100,372
= 73,316
= 13,528
Al 13,528
(2)6.27~7. 215 MHS (P LR) 46,259 0 46,259
= 46,259
401 Al&HIZ 20| 46,259 0 46,259
= 46,259
01 AlIEH| 46,259 0 46,259
O35 Y| HEXl HUIZSA
46,259,000 14 46,259
= 46,259
sEZEEH| 7,070,000 2,500,000 4,570,000
I ZMEQITH (ARSI (MEALY) 7,070,000 2,500,000 4,570,000
403 REXISMISK=0]H 7,070,000 2,500,000 4,570,000
02 S| 2S0ICHEHAHEE (&AL I 7,070,000 2,500,000 4,570,000
O0l&tH AZX P AL EHEA
(B RS01Z2AH 3,000,000, 0002 % 14! 3,000,000
O240H X7 L& AXSAHERsSHESAL
4,070,000,000&* 1A 4,070,000
SHHY2HAYI(HAL) (OIEH/IIEL 941,018 912,944 28,074
& 47,000
Al 484,228
= 409,790
I | 809,744 785,102 24,642
& 47,000
Al 352,954




M A8
A HH2HAHI(HE D) (DIEHIIED
£hel: ol 23| (che]: X Sl)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
= 409,790
T2EHR QIERAY| 352,954 329,615 23,339
101 2l24b| 352,954 329,615 23,339
03 SRA(RI|H) 222 352,954 329,615 23,339
O==Z ol 352,954
—d2=¢ 2,537, 7202 %500%25| * 15 38,066
—HESIHI 2,537, 7202475523 * 15 57,099
== 12,480
- B XH 40,0002 %11+ 128 5,280
JIEk 60,0002+ 1024+ 122 7,200
—AlR2tQI2 R4
24,9102 15A1 2+ 5%+ 122 67,257
—FY224g 199, 3102 x252* 152 74,742
— RS/ IIE
132,870&%13Y*15% 25,910
— SR 70,000+ 153« 12 12,600
- 70,000+ 153« 122 12,600
—BELY 150,0002* 1% 122 1,800
-2+ 75,0002*3% 122 2,700
—ZAHgAal| 140,000 % 1534122 25,200
— WS4 100,000 %15 * 12 18,000
—M&E=< 50,000 153362 4,500
(S) X2 0124H| 456,790 455,487 1,303
= 47,000
= 409,790
101 Ql24y| 456,790 455,487 1,303
& 47,000
= 409,790
03 SRA(RI|H) 222 456,790 455,487 1,303
O===2& I8¢ 456,790,000 % 1Al 456,790
& 47,000
= 409,790
[2Ztl 131,274 127,842 3,432
=3l 131,274 127,842 3,432
201 LE23H| 34,7% 31,362 3,432
01 AtR22lt| 34,7% 31,362 3,432
OSALEX 72 20,0002 %22t Ax 122 5,280
OSE2014AlY| 8,000+ 741 %203 x 122 14,784
Ogetrz 100,000 * 12 1,200
OLA2 TAZLLI 50,000 122 600
OAAR 4| 12,930
—SADI(UE) %2
1,000,000 =1.5CH 1,500




SA: ALY
M HHSAHAH(HALD) (JIEHIIE
el Jl=34 (Ctol: X2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
—I2IE 22 100, 000 *5CH*50% 250
—=AD| €4 200,00021%53]*1.5CH 1,500
—IRIE(SY) Y
200, 0002 %53 *5H 5,000
—TRIH(2Y) EY
200,000 %53 1CH 1,000
—PC =l 100, 000 *22CH*20% 440
—JIEt 2-2lH] 50,0002+ 12 600
—J|Et A2l
10,0004 +22H x 122 2,640
202 Ot 90,000 90,000
NENEED 90,000 90,000 0
OZHLHOH| (M HE 18 HE)
20,0002 %23+ 122+ 122 66,240
O=204d] 120,000 #2284 %92 23,760
203 2EZIH| 5,280 5,280 0
04 ENSHAREZAIH 5,280 5,280 0
ORNSZHRFEH| 440,0002 %12 5,280
204 Z 24| 1,200 1,200 0
01 ZHUZ AR5 AH| 1,200 1,200
OX I ARABHAY| (AL DHE)
100,000+ 18122 1,200




